
ASSEMBLY INSTRUCTION

23060013/01

23060018/01
23060016/01



D

R

A

C

H

I

J

L

K

U

S

S

P-

O-

N-

P+

O+

N+

M+

M-

G

F

E

B

Q

Page: 2/17

T

T



x1D

x1
H

x1

G

x1

F

x1

E

x1
I

x1

J

x1

K

x1

L

O+

x1N+x1
M-

x1M+

x1
O-

Page: 3/17

Side Right LoungeBehind Seat Lounge

Middle Seat Lounge

Front Seat Lounge

Side Left Lounge Front Lounge Front Bare Middle Bare

Support M+

Support O-

P+
P-

x1 x1

R
x1

x1

N-

Q

x1

x1

x2

S

x2
T

x1

U

Support M- Support N+ Support N-

Support O+

Covered Suppor Back

Support P-Support P+

Back Cushion

Pilow Cushion

Seat Cushion

Part List:
x1A

Back Right

x1
B

Back Left

x1
C

Arm Right Arm Left



Hardware List:
 x 4 pcs

1
 x 18 pcs

2

 x 15 pcs
3

 x 8 pcs

6

BOLT M6 x 30MM BOLT M6 x 40MM 

ALLEN KEY 

Page: 4/17

FLAT WASHER M6

 x 8 pcs
4

WASHER M6 x 5MM

 x 69 pcs

5

 x 8 pcs

7  x 8 pcs

8

 x 1 pc

9

 x 2 pcs
10

BOLT M6 x 60MM BOLT M6 x 20MM 

 KEY 

NUT M6 

COVER NUT M6

 x 2 pcs

11

WASHER M6 x 10MM

 x 8 pcs12

BOLT M6 x 35MM 



Page: 5/17

1

2

G

I

I

 x 1

3

 x 3

5

 x 3

J

3

5

G

 x 1

3

 x 2

5

 x 3

J

 x 1

2

 x 1

3

2

5

5

50%

50%

X3 Bolt

X2 Bolt

X1 Bolt



Page: 6/17

3

4

H

3

 x 3

5

 x 4

H

 x 1

2

 x 1

2

5

3

5

50%

50%

5

 x 8

7

 x 4

F

 x 1

4

 x 4

F

4

5

7

X4 Bolt

X1 Bolt

X3 Bolt



Page: 7/17

5

6

4

5

7

50%

50%

5

 x 8

7

 x 4

E

 x 1

4

 x 4

E

X4 Bolt

D

3

 x 2

5

 x 4

D

 x 1

2

 x 2

5

2

5

3

X2 Bolt

X2 Bolt



Page: 8/17

7

8

5

3

5

2

50%

3

 x 2

5

 x 4

C

 x 1

2

 x 2

C

X2 Bolt

X2 Bolt

50%

L

X5 Bolt

L

 x 1

2

 x 5

5

 x 5

2

5



Page: 9/17

9

10
50%

A

X1 Bolt

B

A

 x 1

B

 x 1

K

 x 1

2

 x 5

5

 x 5

5

2

5

3

X5 Bolt

K

3

 x 1

5

 x 2



Page: 10/17

11

12

A

B

3

 x 2

5

 x 2

D

C

5

3

X2 Bolt

50%

Admin
Line



Page: 11/17

13

14

5

1

50%

X4 Bolt

Q

 x 1

1

 x 4

5

 x 4

100%

Q



M+
 x 1

M- x 1

100%

Page: 12/17

M

 x 1

R

 x 1

M-

O-

P-

N+

O+

P+

N+
 x 1

N-
 x 1

O+
 x 1

O-  x 1

P+
 x 1

P-
 x 1

1+

M

M+

N-

M

R

X4

15

16



N

 x 1

50%

Page: 13/17

O

 x 1

N

2+

R

N

3+

O

O

R

17

18



12

 x 8

5

 x16

100%

6

 x 8

8

 x 8

12

5

6

5
8

P

 x 1

50%

Page: 14/17

P

4+

X8 Bolt

R

P

19

20



2

 x 2

100%

Page: 15/17

5

11

2

X2 Bolt

5

 x 2

11

 x 2

21

22



Page: 16/17

U

 x 1

S

 x 2

U

S

S

T

T

T

 x 2

23

24



Page: 17/17

25


	1
	Sheets and Views
	Layout2


	2
	Sheets and Views
	Layout2


	3
	Sheets and Views
	Layout2


	4
	Sheets and Views
	Layout2


	5
	Sheets and Views
	Layout2


	6
	Sheets and Views
	Layout2


	7
	Sheets and Views
	Layout2


	8
	Sheets and Views
	Layout2


	9
	Sheets and Views
	Layout2


	10
	Sheets and Views
	Layout2


	11
	Sheets and Views
	Layout2


	12
	Sheets and Views
	Layout2


	13
	Sheets and Views
	Layout2


	14
	Sheets and Views
	Layout2


	15
	Sheets and Views
	Layout2


	16
	Sheets and Views
	Layout2


	17
	Sheets and Views
	Layout2


	4.pdf
	Sheets and Views
	Layout2


	11.11.pdf
	Sheets and Views
	Layout2


	8.pdf
	Sheets and Views
	Layout2


	9.pdf
	Sheets and Views
	Layout2


	10.pdf
	Sheets and Views
	Layout2





